1.

O 22 3 oS A9 S4HL
Coad 3712 A Q.
1

-

v

L
o

2 o

rr

—— [l

!

o

2]

=

ofl

(?:1‘

Yt

7t




g =g ARAEGAYr) 2 oo 2727542,

-

L]
|

>
> ®gh: 160°

Or
O

AR 1w gFAJN AR v AL J0H
Zracsngt a2

wabA (ZF o\ A)=180° — 90° — 70° = 20° °| 2 &
(ZF 1B 0)=180° — 20° = 160° YT},




Ut} 7 cenel 27159 A7

b

=

-9cm ---

= 25°YYrt.

HLO|EgE F7|

N
ol
N

Ztcend e




32 od o FAHCR ot APHEFYYLE =
L ° =% emGy7t?

>
> = 54cm

i sl (ks == ()

(A& u)= (A& 28)=10(cm)

(AELE)= (AR vnr) =17-(6+6) = 5(cm)

Ot 2y treansd EE54+10+12+5+10+12 =
54(cm) YYtt.

ofl




o d =&l 4L

= sto] A=

> = cm?
> Met

FAHOE ol= FANA =S ot A=
Z 19 Holo 2 syt
X3 +2x2=24(cm?) YUt}




Fol 180° &2

5|

1o

€ 7oL,

EEEEEES

40 cm

(64+4+10)x2=40cm




